sec math 2 unit 1 test review.notebook September 13, 2019

SM2 Analyzing Functions & Transformations Test Review

1. f(x)=—+/x+6 2. f(x):§x+6

left to right left to right
Domain: [-6,0) Domain: (—0' ) °.)
Range; (-'m! O] Range: = oo )

bottom to top bottom to top

min to max min to max
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domain is always (-co0,) for lines, .
cﬁoso‘uTe value, a(nd ‘rhg, x9 functioins

Y Rerga s V

3. fx)=x"+4x

(o)
Domain: (-00,00) / \
[-4,0) Domain: ( -00,00)

Range:

Range: ( -0,00)
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when x is 1 what isy = -2 y

4. Find f(1).

5. Find f(— (57) 2ory=2

The graph of y = f (1] is shown below. Use it to answer the following questions.

6. For what values of x is f(x)=-27
wheny is -2 x is what? (?,-2) x=1, &%"

7. For what values of x is f(x)=-8?

x=9 (? 8\
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Find each value if f(x):xz —3x+4, g(x) =3x-35, and h{x): y Y Leave your

-2x
answers as simplified fractions, if necessary. Show all your work.

8. f(-2) 9. g(-3) 10. A(1)

kl_s)“_._{ 3x-5 ..-)i——

(2%-3(.2)+4 3(-3)-5 =2y

14
14 |

Y=200)

put bottom part in calculator first
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For each graph, do the following:
Identify the parent graph () — ‘.\‘:, y=x,ory= f\fI).

*

Fill in the x, y table for the parent graph.

Draw the graph of the parent graph with a dashed line.

List the transformations in the correct order.

Make a second x, y table to apply the reflections and stretches/compressions.
Make a third and final x, y table to apply the translations.

Draw the final graph with a solid line.

State the vertex or endpoint and domain of the final graph.

*

®

R
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11. Graph this function: g(x)= i|x -2|-6 ¥
Parent Graph:; ﬂ = ‘¥ _l 102
Transformations: 1. a= 1/4 so vertical shrink

5 -

2. h=2; moves right 2

3. k= -6; moves down 6 *""H"""‘H"‘m 5 _‘H*+"“'*"""5 i .
parent graph A@ L -
s )
x|y x |y x| v
EYE 2% |-5 [OFsls 10
] =1 /51 .26 [1[-5[1g
015 a e i
1|1 1 [ Wy .25 |72 |~g]
2|2 2/51.5 [yl-9¢
Vertex: (‘Z)-— L) ﬁoma‘m: t" “/m')
add 2 to x; subtract 6 fromy

x stays same; y is multiplied by “a"
multiply y by 1/4
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12. Graph this function: y=+/x+6 -5

y
A
Parent Graph = X 10T
Transformations: 1. h=-6, lefté6 5 _i |
2 k=-5:downb
{i—r—n—n—n—l—n—a—n—f——n—-—u—a—}—q—»—n—-—k) x
) 10 =5 . 7 5 10
pClr‘eh'l' gr‘aph ? \* H* K //—_‘;T_
x|y x|y x|y [
0 I
r q

Endpoint:
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13. Graph this function: f{(x)=-2(x+ l}2 +4

Parent Graph: g — _x

Transformations: 1. flip
2. vertical stretch by 2
3. left1
4 w4
29 X4\
X v X ¥ x v
e A e I E v
0 Q.0 “1
171 | 1= Ol =
2 | o 2 [-8| ks

Vertex; (’l’ﬂ ) Domain: (-OOIOO)

—10
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